OlAP A X2 4 2ax + b—1 = 0] H7F 3w, b—a O] G

@i @12 01w @eun  ®o

2 +2ax+b-1=(x-3)2=x2-6x+9 o]oJof 2
2a = —6,a = -3

b-1=9,b=10

s b—a=10-(-3) =13




5 o]

2
N m+n o] F2?
® -1 )0

@1



3.

O|ZPYAA 6x2+x—1 =09 F Lo & FE& Loz

A%7H1 9l oAb A o] A ASE?
1 1 1 1 1
= a0l sto L = g0 mo 1L
Sp =R e ) e e
6 6

1§ 3202 Zt oPhpgelng

1 2

=) =0
(x+ 6

1 1
2 - _— =
X +3x+ 5 0

il 1

wrehA Al At Lol




OJZPFA Al 32 4 2x -3 =

4.

@ x2-5x+6=0

DO x2-5x-6=0

@ x>4+6x+5=0

@ x> +5x-6=0

@x2+5x+6:0

ol

'l.l:l

0

(x+2)(x +3)

X2 4+5x+6=0




<
+
Ne

—

X =

—

o
— lon H
|

e

—lna

= 0(a # 0) A

ax> +2b'x + ¢




@ 3

® 5

5 2o e 24 5=-2
a
=00 3o 9x5— 10— 0
a




e

D 5x2+x-3=0 @ 5x2-x-3=0
@5x2+3x—1:0 @ 5x2-3x-1=0
® 5x2-5x-1=0

B

a+B=3, af=-5
.1+1_a'+ﬁ_3 3
"a B o8B -5 5

1 1
— X — =
a p

T
3 1
24y =0
x+5x 5

L bhx24+3x-1=0




8.

O|AFT A 3x2 + bx+¢c =09 F 25 -1 2 2 & off, ba? +
cx+1=09 F 2o 27

“1+4+2=-
(-1)x2=
-3x2-6x+1=0

metd 5 29 ge -0 = ey,




@ 3 ® 23 @ -6 )6

® 2

B

T 3a2 - 11la+10=0

5]

x=3<=H4d

(@]
Il
~
|
2
o~
|
o)
Il i
— o
Jﬂ (3
i
S
T
g < ou
% g
oA
o s ©
= .. +
([¢) ow
o N 18
o
ol o %




W

1 5
@x—g,x=21 @)c:;’x:5
@xz;l,xz; @x:i,x:?,
©x=3 x=3

, —2d W, mx2+7x—k=0

k 1 5
2 _9_ _2olmzm
3 3 2 3 ] k
m 1 2
m_ 29y =_%olB& ;—=_—
3 =32 3] m= -2

mx2+7x—-k=0




2 9 A7k 191 )%

11.

@ x*-2x-1=0

D x2-2x-2=0

® x2-2

@x2—2x—4=0

3x-4=0

® x2-4x-2=0

ol
Ho

ol

ol

0

<t
|
o]
[}
|
5
=




120 oA X2 +x+a =09 ?F 0] -4 o]a, ThE {F o] 3x% +
bx+21 =09 et A o, a-b o 727

D1 @ 2 ® 3 @)4 ® 5

—€B ~
x=-45 x> +x+a=00°] tfYstH

16-4+a=0,a=-12 o|t},
Prx-R2=09AHGETF T2 x=3

x =32 3x%+bx+21 =00 HU35A

b = -16 o]t}

“a-b=-124+16=4




=

+
2

2

O 242 -4x+1=0, x

=

™

~

+

+

@ 2x2-6x-5=0, x
@ x2-2x-2=0,x=1

<

= |~
Sl
H |

<t
— H
| 0
Il I
= =
S I
Il Il
— —
—
| +
=
=
a T
+ o
™~ =
= &\l

@ x=-1+2v3




14.

O|ZPFAA! (x+1)(2x—5) =02 ax’* + bx+c =02 = 13 o,
a, b, ¢ © F27

Da=-2,b=-3, c=-5 (@)azZ,b:—S,c:—S

@ a=-2,b=3,c=5 @ a=2,b=3,c=5

®a=-2,b=3, c=-5

(x+1)(2x=5)=0
2% -3x-5=0
ca=2 b=-3, c=-5




OIZPTAH A x2 +bx+a+1 =02 Fo] -4, -1 4 I, ax?—bx-2 =0
o F 22 a gL T, op o G227
2

1
O -1 @y—§ ®—§ @ 0 ®

Wl

. ‘
T o] -4, -1 °|BE=E

(r+4)(x+1) =0

x2+5x+4 =04

a=3,b=5

3x2 —5x—-2=09 F 9] o, BO|BE

. ap =——
3




